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The acce i
clera ; i i i : ;
Al0n of a body under the influence of two or more forces is always The positive force

1
lin the direction of

2 ::h:;:l_ leaves the ground level with take-off angle 300 to the horizontal and 19.8 mJs

ACNCS @ maximum height of five meters. The take-off speed of the ball is : s

An object is subjected (o a displacement of A7 = 2i + 4 j — Sk and ending with

3 POSIon veclor 7 = 4i + 8j-10k in meters. The magnitude of its initial position 58m
Vector is:

4 The friction force on a moving body i . acceleration of the

ing body is proportional to the body
537.38 N

5 A player of a mass 57 Kg runs on a circular track of radius 24 m with constant

speed of 15 m/s. The magnitude of his centripetal force is:

6 A ball is thrown with a force of 62 N. The ball has an acceleration of 4 m/s”. 14.5 Kg
What is the mass of the ball? i

A block of 5 kg is at rest on a frictionless inclined surface of 30° 1o the

horizontal, which connected 10 the wall trough a cord. The value of the tension 26.7 N

~J

force of the cord is:
is a unit of velocity

8 The newion
In the figure, two blocks are connected tokether with a cord over a frictionless
inclined surface, where m; = 12 kg and ak
=5 Misas N my20 kg y
m; = 20 kg, the acceleration of the two 0.99 m/s”
blocks is:
a0’ 25

An elevator weights 29 kN moves upward with its speed increasing at a rate of
39.8 kN

9

10/11.5 m/s?. The tension in the cable of the elevator is:
24.249 m/s

1 The maximum range of a projected ball is 60 m, the initial speed of the ball was

_” The smaller  gesultant force

The larger force force
16.7 m/s 25.8 m/s
Zero 6.7m

force causing

weight of the body | 40 orion

525.38 N 54038 N
18.5 Kg 155 Kg
30.7TN 245N
= kg.m.s: = kg.m/s
0.23m/s" 0.39 m/s’
33.4kN 14.5 kN

22249 m/s 25.249 m/s

normal for

10 m/s

10 m

ce on

175 Kg

10.8 N

(]
-

[ -]

0.79 m/s”

46.7 kN

27249 m/s



The period 1 -
tume of an objec . - .
22 I . NECt moving al a const e 5 m/s on a circular
path of radius S 2 stant speed of 5 m/s on a circul

23 The formula of (he centripetal force

I s Bonre i E, - — -
.n ”:ll-.llgurl. il Fy = 17 N and F; = 11 N, the frictional force exerted by the
24 Surface on a block moving with constant velocity is

.L?-‘_l_'_}_u_.

e (A car rounds a 5 m radius curve at speed of 5 m/s. The magnitude of its
centripetal acceleration is:

»p An ubjcf:: accelerates over smooth inclined plane with 2 m/s”. The angle of that
plane with the horizontal level is:
A bullet is fired from ground level with a speed of 140 m/s at angle 30° above

27 the horizontal. What is the vertical component of its velocity when it is at the
highest point of its trajectory?

28 The force required 1o keep an object in a circular orbit is directed

59 A 22 kg object is moving with a net force of 8 N directed to south. The object
=" having a magnitude of acceleration
0 The force of friction on a sliding object is i = 6 N. The magnitude of the
applied force needed (o maintain a constant velocity is

12 (Second) n (Second) 2n (Second)
y 1 mv'R
m’vR mv' R’
6N 27N 28 N
5 m/s’ Zero 1 m/s’
11.78" 12.31 15.12
140 m/s 70 m/s 121.24 m/s

in the direction

away from the  opposite 1o that in

center of the circle which the object is
moving

2.75 m/s’ south 0.36 m/s” north

More than 6 N

toward the
center of the

2.75 m/s” north

6N

~l
7

25 m/s’

in the direction in
which the object
IS moving

0.36 m/s” south

Less than 6 N
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